4@ 2015H<—JzRXT /3L (U-10-U-11-U-12)
— J7—ARNSIVF EZHH —
HEE
B F/27%8A2H (H)
25 =ZEhmERE LIRS
8/2(H)
=EMERELHKS
u—10 Uu—11 u—12
1.RFC(ERIR) 1.=%FC(Z%H) 1.=Z%FC(Z%H)
2. AL IR A R (ALIR ) 2.7 ) — L ALIRGFLIR ) 2.7 ) — L ALIRGFLIR )
3.7 —L ALIR(FLIR ) IERRBOHBEGERIRT IERRBOHEGERIRT
4B/ERLTIIVACE IMET) (4 FLIR S R GALIET) 4 ALIR A R(ALIR )
577 T AR MR M 5.0 T ARIRME (E RIRT)
O157 =557 — 155 N FIRIGERE
8.2(H)
a—k Ad—k (FHiaD Ba—h (E248l)
g | BERE BT — xt B I s D B Xt B =1
8:00~9:30 5. RBERK. 7V
D i 9:30~ | 4fF ®FC — LR aFE i7IY)—-L — B/ i
@ i10:15~| 5% = &3 - F7IU—L 5% BOH — LR
@ i11:00~| 6% = &3 - F7IU—L 64F BDOH — LR
@ i11:45~| 4F B®FC - F77U—L 45 LR — B/ b
® i12:30~| 5% 1% @ - = &3 54 (77U—-L  — BDOH
HEEEH HEEEH
® i13:15~| 6% 1% @ - = &3 6% 7IU—-L - BDOH
@ i14:00~| 4& ®FC — B/ b 4% LR - F7FU—L
14:45~| 5% | ok - % A 64F s - iR
@ 115:30~| =i - g -
16:15~| iRk — in -




